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1. A measure which divides ascending or descending data in two equal parts
Ans — Median

2. A compound statement is a statement which is made up of two or more statements In this
case each statement is called —
Ans — Component Statement

3. Let A be the non-void set of the children in a family. Then the relation of x is a brother of y on
Ais
Ans — Transitive

if y=4x is a tangent to the curve y*= px*, qat (2,3), then -
Mp=2,9q=-7
2)p=-2,q=7
S)p=-2,q=-7
4. ‘(4)[):2.(]:7
Ans — (1)

5. afa sin « = sin f @=11 CoS @ = Co0S g, a4

a+ f p a+ f§
(1) sin - ,‘ =) (2) cos -~ ,, =0
] -
(3) sin “—,J—) =) (4) Cos - ’I =0
5. i
Ans —(3)
Let R = | (aa). (b.b), (c.c) (a.b)} be a relation on set A = {a,b,c}, then
Ris -
(1) Identity relation 2) Reflexive
(3) Symmetric (4) Anti - symmetric
6.
Ans —(2)

7. aTe b H HHA B SQIE

Ihe valves of a and b such that

wl+ acosa)~bun

lim -=] are-
(1) 5/2,3/2
@) 5/2,-3/2
(3) -5/2,-3/2
7 i (4) ST # 9§ o 78



Ans —(3)

s.jv" dx &1 7 & —
fll ,

X

Ok
@3
® 5
(4) ST # 9 B¢

8.
Ans —(3)

o wos fAfy R AR, Rvemmd BR sk 0@ sy SEET &
gy, s & - |
(1) HgE AR A aam B oy
() a1 # dwen wira B farg I
(3) are wyaw & @ A& A e B A
(a) 2wl B dra wadl A wE @ fo
Direct Method, Contrapositive Method, Method of Contradicition
and using a counter example, these are methods -
(1) To find the compound statement ‘
(2) To check the validity of statement
(3) To check that statement is compound or not J
9. remmid) To measure the relation between two statements ___

Ans —(2)

10, af% I'(x):log(::)a%n g(xv:%m fog (x) avaw & -
(1) -f(x) (2) 3f (x)
(3) (f(x)) (a) SRt § | PIE TR

+ x93
Given [(x) = log l:_: yand g(x) = :—::3—L , then fox(x) equals -
(h-fix) (2) 31 (x)
(3) (fix)»? (4) None of these
10. &£

Ans —(2)



1. %1 U@ n w4 B 9 e A = [a] 8 99 ve fad wen
SreE A .. FEad & o ag = (1,)) T AT a9 87
() wxfrE () T e
() ¥ rgE  (4) 9 s
To every square matrix A = [a;) of order n, we can associate
a number called ........ of the square matrix A, where a ;=
(i)' element of A,
(1) Determinant
(2) Null Matrix

.Ans—(l)

7 SR # 3l aEl AeE” AR W B 1Y # TS B
(1) TR w9 A PR A !
(2) v T H s l
ORI RES

(@) & arFa & A
There is a role of "AND", "OR", "There exists" and "For

(1) Mathematically acceptable statement
(2) Negation of statement

12.

Ans —(3)

13. x-3m ¥ fsg Plab,c) @ g0 &~
()Y (b+c?) @)V (a*+c?)
@) V (a’+h?)  (4) SR A § B¢ T
The distance of the point P (4,b,¢) from the x-axis is-
MV (b+ed) 2V (atcd)

(3) v (a*+b*)  (4) None of these

13.
Ans — (1)

14. A ve wwfda aege 2, aft -
(1) A=AT (@ AT=-A
() AT = -AT (4) A=-A
A is skew symmetric matrix, if -
(1) A=AT (2) AT=-A
(3) AT=-AT 4) A=-A
14.



Ans — (1) for Hindi and (2) for English

15. f2 ax? + 2hxy + by*+ 2gx + 20y + ¢ = 0 wrer Y@ wlffa s
g -
(1) hf = bg (2) h* = be
(3) a*f = b?g (4) sraa # | g 78
If ax® + 2hxy + by*+ 2gx + 2fy + ¢ = 0 represents parallel
straight lines, then -
(1) hf = bg (2) h* = be

(3) a*f=b?  (4) None of these

15. =
Ans—(1)

16, WA X X+ y =Kk WA y = x - X%, # W a1 B, A k=
Mo @-1
B)1 (4) W H | P A
The straight line x + v = k touches the parabolay = x - x* itk =
(o (2 -1
(3) 1 (4) None of these

16.
Ans —(3)

17. a2 h=k=r &, @ Y@ & N T L
(1) ¥ +y?=2rx=2ry +r=10
@) x> 4¥? + 2rx + 2ry + P =0
@) x> 4y -2rx+r=0
@) x> +y* =2rx - 2ry + r=10
If h = k = r, then fiend the equation of circle,
(1) X2 +y2=2rx-2ry+r=0
(2) X34y 4+ 2rx + 2ry + 2 =0
) x4y -2rx+r=0
17 ) x4y -2rx-2ry+r=0

Ans — (4)

18.7 = d + A (b-d) , A €R EaTn -
(1) WA A (@) I g3
(@) ¥R G (@) T A P T
¥ =d+A(b-d),AeRis called
(1) Parallel equation
(2) Null equation

3) Vector equation
18, J3) None of these



Ans —(3)

19. af2 Ta m Hagal A Hwmy W n dagdl A wge. 4l
m<n & ® A 7 P vl A e arf -
(1) m" (2) n"™

n! '
B @ n!
The total number of injective mappings from a set with

‘m' elements to a set with 'n’ elements , m <n, is -

(1) m* (2) n™
(3) —= (4) n!
19. = Soia'l N
Ans —(3)

20, MW A/ oA areh o P @ deEa Y WEed @ o

FEar &7
(1) wawa (2) Fraan
(3) =¥ (4) v
A line through the focus and perpendicular to the directrix is
called ....... of the parabola.
(1) Parabola (2) Directrix
20. (3) Focus (4) Axis
Ans — (4)

21, Sin ! Cos(%') 1 A & —

The value of Sin ! Cos (5’51) is -
3

i
¢

@<

OFS

(@ —
10

21. )
Ans — (4)



22. & g9 5% + 9 y2 =45 @ ft @ wem A gD R
The distance between the foci of the ellipse 5x7+9 y*
=45is -
(1) 2V2
(2) 4
(3) 4v2

() 2
22.

Ans —(2)

1
23. AR HEA F(x):{(fosﬂ’.i:gft x = 0 R Haw 8, 79
k

K &1 719 &7 —

1
If the function F (x) ={(‘-'0;'1)" ,;:g B x = 0 then the

value of K is -
(1o
()1

Ans —(2)

24. 5 af¥ @ Ma A W e weR | B e &
How many combination may be possible for seating
of 5 person on a round table -
(1) 120
(2) 60
(3) 24
(4) 25

24,
Ans —(3)

25, tan 15° = .....
@) 2+v3
@) 2-V3
@ -V3
@1-v3

25.
Ans —(2)



26.

27.

28.

29.

26. af2 @ W A A S gEAN 7w W AR @ @ A L. gen
FEamd 8-
(1) fys wea
(2) 3R =R
(3) srega T
(a) snf¥a weam
If an event has more than one sample point itis called -
(1) Compound event
(2) Favourable event
Jisjoint event

(3 <1
- ,‘f.- .".-lr-)_;'

27. afz Cosx + Cos 8 = 0 = sinx + sin # @@ cos 2 X
cos2 B =
(1) - 2sin(a + B)
) -2 cos(a+f)
(3) 2sin (a + )
(@) 2 cos (a+ p)

S

Ans —(2)

28 Sin78%=......
M) 37
3+1
(#) V2
3+1
Gy 2v2
-
® 3
Ans — (3)

29.  F(x) = [sinx] has an inverse if its domain is -
(1) [0.m]

@) (03]
@73
() None of these



Ans —(2)

30. aft q@f vi =dax W y = mx B ¥4 & 7 a¥3 &
AAR &, T4 m F T B~
(1)1
() 2
(3) 3
@) V3

30.
Ans —(2)



